\

nl ()

SOAON 8040F

8040




[T1 [T1 [Tl L [T1
— — ~ AN —
(@) o
170cm 200cm ﬁ E i 2156m i_ﬂ . 330cm )
X . 8 5y S0 8 | X S

P8 ><

— N > > X

N =) a 4 N
[T1 [T1 [Tl [Tl L
—_ — oo @) N
AN —i

® o 8 3% 8 2 8 o 8 X °

> > > P >

(®D)] W — . N
[T1 [T1 [Tl [T [T1
— — d®) (@)) W
(@) | N

CI g % 20;::::“1 | E % cm 8 cm 8 ﬁ cm 8 cm 8
< > < > <
— N (@)) AN —_

NOv08




8040N

~— o0 -
I > nvDA X
0 5 I~ ot
~— Al ™
LLI ] LLI LL]
T D ¥ 2
” —
~~ | 8 O o .
™ N Al QA
LL] LL] LL]
= e :
X N—]
R
© o | 10 o0
~— ~— | Al = A
LLI LLJ LLI LLI




8040N

E33

X2

80cm

E36

X1

80cm

E39

x4

80cm

E42

E45

x1

80cm

X2

X1

X2

X1

x1

E31

E34

E37

E40

woy/ woy/ woy/
O SH IS S o
m Q@G 5 § 5
® ”W ...MJ ﬁm o ® ) ) g
2 L. . . o) 5 . 8 . . . .J) ~—
™ &P P <
LL] LL LL] LLI
o™ ~— ~—
X x X
woy /. Wwoy/ woyL
0 0 g < 0 N * 3 woyZ
u g ﬂ
/) |- | JANA I QM :
s o) | :
|




8040N

E46 E47
ﬁ‘?\‘/;“/
E49 X1E5O E5T
/
1Y
X35 X2 tsem X36
ES53 E54 )
ﬁI“
X2 - X2 - x4
ES5, - E56 ES57
- I ,
- x4 X6 X1
ES58 E59 E6O
J X3 ) X2 ) X2




8040N

EGT

°° B\)@LQ ;%

X3

E62

(g

X2

X1




[Tl [Tl [Tl L [Tl
— — ~ AN —
(@8 ()
170cm 200cm @ Ei 2150m i_ﬂ . 330cm _
X 2 =] 8 955 S " g8 | X °
> e
—4 N > X X
I = O " N
[Tl [Tl UL Tl LL
— — @0 @) N
AN —i
®o¢ o 8 o 2 3% 2 o 8
X D e > X X
(®)) Q -4 B N
[Tl [Tl [Tl [Tl [Tl
— — d®) (@) W
O1 A
CI cé % 140cm | I% cn _ e } & .
e 202cm % S % % % < ’
> X >
>_<L r>\<) (0)) ~ —

40v08




8040F

P Q\ — —
; o > o m x
o I S
LL] -9 LL] LL]
; R x g
N~ ) (o) o
- LL] LL]
— < <
X 8 x
MR
:
2 | Y
LL] LLI LLI LL]




8040F

E33

X2

80cm

E36

X1

80cm

x4

E39

E45

x1

80cm

X2

X1

x1

E31

E34

E37

E40

woy/ woy /L
@ 4@". > 12 O < 5
Mm “w ..w R
2 \ . . o) 5 L 8 \
™ ™ ™
LLI LL LLI
o™ ~—
X >
woy/ woy/ woy/ woy/
= F
R e B
D\V/A V\b/' 5 M m \wl E m E
: S g) |f . :




8040F

E46

X1

E49
c:ijjjjjjﬁ

X35

X2 X2 x4
E5S5 ) E56 E57
. . \ (-
e x4 X6 x1
E58 E59 E6O
X3 J X2 X2




8040F

EGT

L
. gu® O

X3

EG2A

E62B

59cm X 1

E63

[/
=

X1




8040N 8040F

Nr Element 2 )3

1 : S6x60 1439 1439

2 @ : W6x60 1180 1180

3 : K2_d30_B 1 1

9 = ISO 7380 | M6x25 6 6
10 DIN 9021 6x18 152 152
16 @ : K1_d21_B 90 90
17 @ . Z1_d21_B 90 90
18 © DIN 985 M6 86 86
20 e DIN 571 8x80 4 4
21 DIN 125 8x16 441 453
22 DIN 125 6x12 110 122
24 () IS0 7380 | Méx16 24 36
25 — ISO 7380 M6x35 80 80
29 8‘9 ; K—5Gé§§9 2_ 12 12
43 DIN 1587 M8 4 4
57 @ DIN 1587 |  M10 4 4
58 % : LOCTITE 1 1




ey

8040N 8040F
Nr Element b3 b3
61 ﬂ - KL105 253
84 ( — ISO 7380 | M8x35 4 4
88 @ - ALUZ RR 2 2
91 — DIN7337 |  3x16 8 8
103 DIN9021 |  10x30 8 8
104 ) | DIN931 | M10x85 4 4
109 DIN 913 10x10 160 160
| e :
- g z
146 ) DIN7991 | Méx12 252 252
147 (@ - M6x10 276 288
148 - |CONETECO 126 126
149 - ALUZ SD 80 80
179 - Z_ECO_1 66 66
180 - K_ECO_1 66 66
213 - Z NA 1 1 1
214 - Z NA 2 1 1




